(A) 20Q
(B) 20Q
(C) 20Q
(D) 20Q

RC

(A) etV |

(A)
(B)
(©)
(D)

3mH
t=0
(A) 2400 mJ

(A)10 Q

5
(A) 18 W

4

(A) 180 mA

10cm

(A) 20 Q

20Q

T 1
1 t=
(B)e?V (C) eV (D) etV
( )
o A 5V
4 A o V
4 A SV
0A oV
t 0 i(t)=10-10 e1*(3c0s200t + 4sin200t) A
(B) 1500 mJ (C) 600 mJ (D) 150 mJ
a Va=30 V
200 Va=20V ab
(B) 20 Q (C)30 Q (D) 40 Q
(B) 225 W (C) 45 W (D) 90 W
4 24KQ 24KQ 12KQ 6KQ
240 mA 6KQ
(B) 120 mA (C) 60 mA (D) 30 mA
20Q 40 cm
(B)80 Q (C) 160 Q (D) 320 Q



(A)

(B)

©

(D)
10. 0° K

(A) (B)

©) (D)
11. () B 100

(A) 10p A (B) 50u A (C) 100p A
12. () Vol Vi

(A) 0 (B) —25 (C) 50

12V
12KQ 6KQ
u F
1 F o
o—f—1—
12KQ 1KQ u F
1
.

13. () Vol Vi

(A) +20 dB (B) +10 dB (C)-10dB

20KQ

o - Vo
2KQ + —0O

% 2KQ

Is
(D) 5004 A

(D) 50

(D) —20 dB



14. CMRR =60dB Aq=100
V=10V Vg=0.1V
(A) 10.01 V (B) 10.00 V (C) 11.00 V (D) 20.00 VV
15. SR.=06V/u s 10
V
(A) 9.5 KHz (B) 19 KHz (C) 38 KHz (D) 57 KHz
16. AM FM
(A) AM
(B) AM
© FM
(D) FM
17. Vo
(A) 12.0 V (B) 10.0 V (C)7.5V (D) 5.0 V
18. Vo
(A) 2V (B)5V (C) 8V (D) 10V
+15V o—o oo VO 1KQ
o o o
1KQ
" 3KQ 1 KQS wo
) —— 10V
+ [
2V 8V
5V T T
—L 6KQ o . .
19. PUT n
(A) U4 (B) U3 (C) 3/4 (D) 4/5
+16V
10KQ
5K Q
5KQ
15KQ
—0luF
100Q




20.

21.

22.

23.

24,

25.

26.

(A) (B)

(A)
(®)

(A)
(B)
(®)
(D)

(A) (B)

(A)
(B)
(©)
(D)

(A)
(B)
(®)
(D)

220V 60Hz 1hp 4

(A)18 - (B) 2.1

©)

(B)
(D)

©)

(C) 3.0

(D)

(D)

4 %

(D) 4.1
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29.

30.

31

32.

33.

35.

36.

1300 rpm
rpm

(A) 1220 rpm (B) 1238 rpm

66KV 220V
0.8
(A) 4 A (B) 3.2 A
(A) (B)
(A)5 4 (B)2 1
(A)9 6.85A (B)6 3.47 A
(A) (B)
(A)
©)
(A) /
©)
80%

(A) 3200 W (B) 2000 W
10
(A) 25W (B) 5W

(C) 1254 rpm

120 A
(C)5A

©)

100V 80V

€4 1

Y D

220 380V

(C)3 5.19A

©)

(B)
(D)

(B) /
o |/

400

(C) 1600 W

(C) 10W

5%

(D) 1267 rpm

(D) 12 A

(D)

D)1 2

(D)5 2.5A

(D)

(D) 500 W

(D) 40 W



37. ()
(A) 25 V

38. ()
(A)1A

30. ()
A) 2+ 1W

40. ()

(A) 1+ j2W

A ©

|=5A v,
(B) 50 V (C) 75V
O\ A
_/
50 | l/
Vs 109% 5A
|
B)2A (C) 3A
40 )
18V~ %5{2 Il/%GQ %39
A B
(B) 1+ j1W (C) 2+ j2W
C D
(B) 2+ jIW (C) 1+ j1W

(D) 100 V

(D) 4 A

(D) 1+ j2W

A B

(D) 2+ j2W







